

CITY OF MESQUITE  
 BID TABULATION

Bid Name: Kaufman County Large Diameter Transmission Water Main Project  
 Bid Number: 2020-012  
 Date: September 24, 2020

Item Number	Description	Qty	Unit	Excel Aircraft LLC dba Excel Trenching		S.J. Louis Construction of Texas, Ltd		Belt Construction of Texas, LLC	
				Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization, Bonding, and Insurance (5% maximum of Base Bid)	1	LS	68,000.00	68,000.00	340,000.00	340,000.00	275,175.00	275,175.00
2	30-Inch DR-11 HDPE Pipe by Open Cut	2,700	LF	131.00	353,700.00	270.00	729,000.00	156.00	421,200.00
3	30-Inch DR-11 HDPE Pipe by Open Cut in Floodplain/Wetland	9,750	LF	131.00	1,277,250.00	270.00	2,632,500.00	166.00	1,618,500.00
4	30-Inch DR-11 HDPE Pipe by Open Cut Across River- West Crossing	200	LF	813.00	162,600.00	270.00	54,000.00	408.00	81,600.00
5	30-Inch DR-11 HDPE Pipe by Open Cut Across River – East Crossing	130	LF	1,100.00	143,000.00	270.00	35,100.00	473.00	61,490.00
6	30-Inch HDPE Carrier Pipe	950	LF	210.00	199,500.00	279.00	265,050.00	125.00	118,750.00
7	36-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	800	LF	435.00	348,000.00	731.00	584,800.00	463.00	370,400.00
8	30-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	30	LF	660.00	19,800.00	640.00	19,200.00	964.00	28,920.00
9	24-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	300	LF	357.00	107,100.00	538.00	161,400.00	381.00	114,300.00
10	42-Inch Casing Pipe by Open Cut	350	LF	265.00	92,750.00	282.00	98,700.00	380.00	133,000.00
11	42-Inch Casing Pipe by Other than Open Cut	620	LF	690.00	427,800.00	783.00	485,460.00	759.00	470,580.00
12	36" Butterfly Valve and Vault	5	EA	116,000.00	580,000.00	60,600.00	303,000.00	96,190.00	480,950.00
13	30" Butterfly Valve and Vault	1	EA	90,000.00	90,000.00	48,000.00	48,000.00	74,585.00	74,585.00
14	24-Inch Gate Valve	20	EA	37,000.00	740,000.00	23,000.00	460,000.00	34,273.00	685,460.00
15	Electric Actuated Butterfly Control Valve with SCADA Connection	1	LS	177,000.00	177,000.00	148,500.00	148,500.00	170,346.00	170,346.00
16	4-Inch Water Air Release Valve and Vault	7	EA	41,000.00	287,000.00	22,200.00	155,400.00	32,393.00	226,751.00
17	Fire Hydrant Assembly	10	EA	13,000.00	130,000.00	7,600.00	76,000.00	10,294.00	102,940.00
18	2-Inch Water Service	2	EA	9,000.00	18,000.00	3,300.00	6,600.00	5,078.00	10,156.00
19	Utility Marker - Water	75	EA	67.00	5,025.00	50.00	3,750.00	135.00	10,125.00
20	Location of Utilities - Vacuum Excavation	10	EA	3,000.00	30,000.00	750.00	7,500.00	1,605.00	16,050.00
21	Connect to Existing 24-Inch Water Line	1	EA	39,000.00	39,000.00	6,000.00	6,000.00	59,846.00	59,846.00
22	Site Clearing and Grubbing	55,500	SY	1.25	69,375.00	0.94	52,170.00	2.00	111,000.00
23	Drilled Native Seeding	52,500	SY	0.50	26,250.00	0.30	15,750.00	0.29	15,225.00
24	Trench Safety Plan	1	LS	2,000.00	2,000.00	3,000.00	3,000.00	3,212.00	3,212.00
25	Trench Safety Implementation	14,500	LF	7.50	108,750.00	0.01	145.00	10.00	145,000.00
26	SWPPP ≥ 1 acre	1	LS	37,000.00	37,000.00	20,000.00	20,000.00	38,733.00	38,733.00
27	HDPE Conduit for Fiber Optics Communications Line – Open Cut	14,000	LF	8.00	112,000.00	8.00	112,000.00	6.00	84,000.00
28	HDPE Conduit for Fiber Optics Communications Line – In Casing	950	LF	8.00	7,600.00	8.00	7,600.00	58.00	55,100.00
29	Fiber Optic Communications Line	15,750	LF	6.25	98,437.50	1.90	29,925.00	7.00	110,250.00
30	Polymer Concrete Ground Box - 2.5'x4'x3' –with 50' of Coiled Fiber Conduit	15	EA	3,000.00	45,000.00	1,800.00	27,000.00	3,504.00	52,560.00
31	Polymer Concrete Ground Box - 3'x5'x3' – with 100' of Coiled Fiber Conduit	5	EA	3,900.00	19,500.00	1,900.00	9,500.00	6,581.00	32,905.00
32	Utility Marker - Fiber	75	EA	67.00	5,025.00	30.00	2,250.00	135.00	10,125.00
33	Temporary Fencing	1,500	LF	5.50	8,250.00	3.50	5,250.00	16.00	24,000.00
34	Fence Gate	3	EA	1,700.00	5,100.00	4,500.00	13,500.00	4,815.00	14,445.00
35	Cathodic Protection	1	LS	11,000.00	11,000.00	20,000.00	20,000.00	26,181.00	26,181.00
36	Removal and Transportation of Marked Trees to Designated Location on Site	20	EA	7,300.00	146,000.00	400.00	8,000.00	1,605.00	32,100.00
37	8-inch Temporary Recycled Crushed Concrete Access Drive (Pump Station Site)	8,500	SY	11.25	95,625.00	11.40	96,900.00	28.00	238,000.00
38	6-Inch Concrete Pavement – Low Water Crossings	300	SY	73.00	21,900.00	143.00	42,900.00	193.00	57,900.00
<b>Total Base Bid:</b>					\$ 6,114,337.50		\$ 7,085,850.00		\$ 6,581,860.00

CITY OF MESQUITE  
BID TABULATION

Bid Name: Kaufman County Large Diameter Transmission Water Main Project  
 Bid Number: 2020-012  
 Date: September 24, 2020

Item Number	Description	Qty	Unit	Excel Aircraft LLC dba Excel Trenching		S.J. Louis Construction of Texas, Ltd		Belt Construction of Texas, LLC	
				Unit Price	Extended	Unit Price	Extended	Unit Price	Extended

**Additive Alternate Bid Items No 1 Access Road**

AA1-1	8-inch Permanent Recycled Crushed Concrete Access Drive (Compacted,	13,150	SY	11.25	147,937.50	11.30	148,595.00	24.00	315,600.00
AA1-2	Fence Gate	13150	SY	2.00	26,300.00	2.00	26,300.00	3.00	39,450.00
<b>Total Additive No: 1</b>					\$ 174,237.50		\$ 174,895.00		\$ 355,050.00

**Additive Alternate Bid Items No 2 Bridge**

AA2-1	Pre-Fabricated Bridge (Horizon Type by Contech) (15-ft wide by 60-ft span) including Abutments, and Foundation Elements	1	SY	285,000.00	285,000.00	230,000.00	230,000.00	392,450.00	392,450.00
<b>Total Additive No: 2</b>					\$ 285,000.00		\$ 230,000.00		\$ 392,450.00

**Additive Alternate Bid Items No 3 Line c and Interconnection**

AA3-1	24-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	2,300	LF	230.00	529,000.00	327.00	752,100.00	236.00	542,800.00
AA3-2	24-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Carrier Pipe	850	LF	170.00	144,500.00	396.00	336,600.00	156.00	132,600.00
AA3-3	24-INCH Class 52 Ductile Iron Pipe by Open Cut	150	LF	208.00	31,200.00	434.00	65,100.00	386.00	57,900.00
AA3-4	42-Inch Casing Pipe by Open Cut	125	LF	265.00	33,125.00	249.00	31,125.00	648.00	81,000.00
AA3-5	42-Inch Casing Pipe by Other than Open Cut	100	LF	690.00	69,000.00	818.00	81,800.00	729.00	72,900.00
AA3-6	50-Inch Tunnel Liner Plate by Open Cut	60	LF	444.00	26,640.00	320.00	19,200.00	546.00	32,760.00
AA3-7	50-Inch Tunnel Liner Plate by Other than Open Cut	570	LF	846.00	482,220.00	792.00	451,440.00	944.00	538,080.00
AA3-8	24-Inch Gate Valve	14	EA	25,500.00	357,000.00	21,100.00	295,400.00	33,110.00	463,540.00
AA3-9	24-Inch Gate Valve and Vault	2	EA	24,000.00	48,000.00	26,000.00	52,000.00	33,416.00	66,832.00
AA3-10	24-Inch Butterfly Control Valve	1	EA	187,000.00	187,000.00	141,500.00	141,500.00	134,097.00	134,097.00
AA3-11	16-Inch Meter Vault with SCADA Connection	1	EA	332,000.00	332,000.00	253,000.00	253,000.00	250,463.00	250,463.00
AA3-12	Connect to Existing 24-Inch Water Line	1	EA	15,000.00	15,000.00	6,000.00	6,000.00	35,978.00	35,978.00
AA3-13	4-Inch Water Air Release Valve and Vault	2	EA	41,000.00	82,000.00	22,200.00	44,400.00	43,691.00	87,382.00
AA3-14	Fire Hydrant Assembly	4	EA	13,000.00	52,000.00	7,600.00	30,400.00	11,036.00	44,144.00
AA3-15	Combination Flushing and Sampling Station	2	EA	88,000.00	176,000.00	6,000.00	12,000.00	10,475.00	20,950.00
AA3-16	2-Inch Water Service	3	EA	9,000.00	27,000.00	3,300.00	9,900.00	5,117.00	15,351.00
AA3-17	Utility Marker - Water	15	EA	67.00	1,005.00	50.00	750.00	137.00	2,055.00
AA3-18	Location of Utilities - Vacuum Excavation	5	EA	3,000.00	15,000.00	750.00	3,750.00	1,624.00	8,120.00
AA3-19	Site Clearing and Grubbing	2,350	SY	1.25	2,937.50	2.51	5,898.50	4.00	9,400.00
AA3-20	Drilled Native Seeding	13,500	SY	0.50	6,750.00	0.30	4,050.00	0.40	5,400.00

CITY OF MESQUITE  
BID TABULATION

Bid Name: Kaufman County Large Diameter Transmission Water Main Project  
 Bid Number: 2020-012  
 Date: September 24, 2020

Item Number	Description	Qty	Unit	Excel Aircraft LLC dba Excel Trenching		S.J. Louis Construction of Texas, Ltd		Belt Construction of Texas, LLC	
				Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
AA3-21	Trench Safety Plan	1	LS	2,000.00	2,000.00	1.00	1.00	3,248.00	3,248.00
AA3-22	Trench Safety Implementation	2,485	LF	5.25	13,046.25	0.01	24.85	17.00	42,245.00
AA3-23	SWPPP ≥ 1 acre	1	LS	12,000.00	12,000.00	5,000.00	5,000.00	16,244.00	16,244.00
AA3-24	HDPE Conduit for Fiber Optics Communications Line – Open Cut	2,300	LF	8.00	18,400.00	8.00	18,400.00	8.00	18,400.00
AA3-25	HDPE Conduit for Fiber Optics Communications Line – In Casing	850	LF	8.00	6,800.00	8.00	6,800.00	62.00	52,700.00
AA3-26	Fiber Optic Communications Line	3,650	LF	6.25	22,812.50	1.90	6,935.00	10.00	36,500.00
AA3-27	Polymer Concrete Ground Box - 3'x5'x3' – with 100' of Coiled Fiber Conduit	7	EA	3,900.00	27,300.00	1,900.00	13,300.00	6,120.00	42,840.00
AA3-28	Utility Marker - Fiber	15	EA	67.00	1,005.00	30.00	450.00	137.00	2,055.00
AA3-29	Temporary Fencing	1,650	LF	6.00	9,900.00	3.50	5,775.00	16.00	26,400.00
AA3-30	Fence Gate	2	EA	1,700.00	3,400.00	4,500.00	9,000.00	4,873.00	9,746.00
AA3-31	Cathodic Protection	1	LS	55,000.00	55,000.00	37,000.00	37,000.00	85,932.00	85,932.00
AA3-32	8-inch Temporary Recycled Crushed Concrete Access Drive	350	SY	11.25	3,937.50	11.40	3,990.00	28.00	9,800.00
<b>Total Additive No: 3</b>					<b>\$ 2,792,978.75</b>		<b>\$ 2,703,089.35</b>		<b>\$ 2,947,862.00</b>
<b>Deductive Alternate No 1 - Line C</b>									
DA1-1	Credit to City for Use of Snap Ring Mechanical Restraints in Lieu of Welded Joints for Line C Only	1	LS	0.00	0.00	1,000.00	1,000.00	37,600.00	37,600.00
<b>Total Deductive No: 1</b>					<b>\$ -</b>		<b>\$ 1,000.00</b>		<b>\$ 37,600.00</b>
<b>Incentive For Additive Alternate No.3</b>									
I-1	Substantial Completion prior to the 180-day contract time for completion of Additive Alternate No. 3	30	Days	2,500.00	75,000.00	2,500.00	75,000.00	2,500.00	75,000.00
<b>Max Incentive Amount</b>					<b>\$ 75,000.00</b>		<b>\$ 75,000.00</b>		<b>\$ 75,000.00</b>
LESS DISCOUNT:									
NET TOTAL:					<b>\$ 9,366,553.75</b>		<b>\$ 10,192,834.35</b>		<b>\$ 10,239,622.00</b>
TERMS:									
DELIVERY:									
				Net 30		Net 30		Net 30	
				As Stated		As Stated		As Stated	

CITY OF MESQUITE  
 BID TABULATION

Bid Name: Kaufman County Large Diameter Transmission Water Main Project  
 Bid Number: 2020-012  
 Date: September 24, 2020

Item Number	Description	Qty	Unit	Mountain Cascade of Texas LLC		Ark Contracting Services, LLC		Wilson Contractor	
				Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
1	Mobilization, Bonding, and Insurance (5% maximum of Base Bid)	1	LS	300,000.00	300,000.00	485,000.00	485,000.00	370,007.75	370,007.75
2	30-Inch DR-11 HDPE Pipe by Open Cut	2,700	LF	189.00	510,300.00	185.00	499,500.00	223.74	604,098.00
3	30-Inch DR-11 HDPE Pipe by Open Cut in Floodplain/Wetland	9,750	LF	195.00	1,901,250.00	180.00	1,755,000.00	235.48	2,295,930.00
4	30-Inch DR-11 HDPE Pipe by Open Cut Across River- West Crossing	200	LF	1,177.00	235,400.00	225.00	45,000.00	813.27	162,654.00
5	30-Inch DR-11 HDPE Pipe by Open Cut Across River – East Crossing	130	LF	1,287.00	167,310.00	270.00	35,100.00	916.79	119,182.70
6	30-Inch HDPE Carrier Pipe	950	LF	146.00	138,700.00	125.00	118,750.00	193.68	183,996.00
7	36-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	800	LF	473.00	378,400.00	485.00	388,000.00	516.16	412,928.00
8	30-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	30	LF	1,076.00	32,280.00	695.00	20,850.00	1,087.97	32,639.10
9	24-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	300	LF	384.00	115,200.00	645.00	193,500.00	394.28	118,284.00
10	42-Inch Casing Pipe by Open Cut	350	LF	350.00	122,500.00	330.00	115,500.00	306.63	107,320.50
11	42-Inch Casing Pipe by Other than Open Cut	620	LF	1,000.00	620,000.00	955.00	592,100.00	750.35	465,217.00
12	36" Butterfly Valve and Vault	5	EA	94,500.00	472,500.00	67,975.00	339,875.00	100,860.00	504,300.00
13	30" Butterfly Valve and Vault	1	EA	67,000.00	67,000.00	60,400.00	60,400.00	78,260.00	78,260.00
14	24-Inch Gate Valve	20	EA	31,400.00	628,000.00	33,120.00	662,400.00	44,193.00	883,860.00
15	Electric Actuated Butterfly Control Valve with SCADA Connection	1	LS	155,800.00	155,800.00	149,000.00	149,000.00	176,328.00	176,328.00
16	4-Inch Water Air Release Valve and Vault	7	EA	26,850.00	187,950.00	32,155.00	225,085.00	36,874.29	258,120.03
17	Fire Hydrant Assembly	10	EA	5,500.00	55,000.00	10,532.00	105,320.00	6,065.60	60,656.00
18	2-Inch Water Service	2	EA	3,000.00	6,000.00	3,150.00	6,300.00	4,500.00	9,000.00
19	Utility Marker - Water	75	EA	150.00	11,250.00	295.00	22,125.00	75.00	5,625.00
20	Location of Utilities - Vacuum Excavation	10	EA	1,400.00	14,000.00	1,500.00	15,000.00	1,872.00	18,720.00
21	Connect to Existing 24-Inch Water Line	1	EA	25,000.00	25,000.00	28,930.00	28,930.00	34,900.00	34,900.00
22	Site Clearing and Grubbing	55,500	SY	1.00	55,500.00	8.00	444,000.00	1.30	72,150.00
23	Drilled Native Seeding	52,500	SY	1.00	52,500.00	1.00	52,500.00	0.54	28,350.00
24	Trench Safety Plan	1	LS	600.00	600.00	3,000.00	3,000.00	2,400.00	2,400.00
25	Trench Safety Implementation	14,500	LF	1.00	14,500.00	15.00	217,500.00	0.75	10,875.00
26	SWPPP ≥ 1 acre	1	LS	18,000.00	18,000.00	6,000.00	6,000.00	41,157.14	41,157.14
27	HDPE Conduit for Fiber Optics Communications Line – Open Cut	14,000	LF	8.50	119,000.00	10.00	140,000.00	13.97	195,580.00
28	HDPE Conduit for Fiber Optics Communications Line – In Casing	950	LF	25.00	23,750.00	65.00	61,750.00	4.39	4,170.50
29	Fiber Optic Communications Line	15,750	LF	2.20	34,650.00	10.00	157,500.00	2.09	32,917.50
30	Polymer Concrete Ground Box - 2.5'x4'x3' –with 50' of Coiled Fiber Conduit	15	EA	2,190.00	32,850.00	7,360.00	110,400.00	1,980.00	29,700.00
31	Polymer Concrete Ground Box - 3'x5'x3' – with 100' of Coiled Fiber Conduit	5	EA	2,960.00	14,800.00	11,920.00	59,600.00	2,090.00	10,450.00
32	Utility Marker - Fiber	75	EA	148.00	11,100.00	290.00	21,750.00	55.00	4,125.00
33	Temporary Fencing	1,500	LF	7.00	10,500.00	15.00	22,500.00	5.25	7,875.00
34	Fence Gate	3	EA	2,000.00	6,000.00	8,040.00	24,120.00	2,600.00	7,800.00
35	Cathodic Protection	1	LS	30,000.00	30,000.00	24,090.00	24,090.00	23,700.00	23,700.00
36	Removal and Transportation of Marked Trees to Designated Location on Site	20	EA	500.00	10,000.00	600.00	12,000.00	600.00	12,000.00
37	8-inch Temporary Recycled Crushed Concrete Access Drive (Pump Station Site)	8,500	SY	25.00	212,500.00	5.00	42,500.00	22.64	192,440.00
38	6-Inch Concrete Pavement – Low Water Crossings	300	SY	110.00	33,000.00	40.00	12,000.00	95.57	28,671.00
<b>Total Base Bid:</b>					\$ 6,823,090.00		\$ 7,273,945.00		\$ 7,606,387.22

CITY OF MESQUITE  
 BID TABULATION

Bid Name: Kaufman County Large Diameter Transmission Water Main Project  
 Bid Number: 2020-012  
 Date: September 24, 2020

Item Number	Description	Qty	Unit	Mountain Cascade of Texas LLC		Ark Contracting Services, LLC		Wilson Contractor	
				Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
<b>Additive Alternate Bid Items No 1 Access Road</b>									
AA1-1	8-inch Permanent Recycled Crushed Concrete Access Drive (Compacted,	13,150	SY	17.70	232,755.00	33.00	433,950.00	19.96	262,474.00
AA1-2	Fence Gate	13150	SY	1.40	18,410.00	1.00	13,150.00	1.55	20,382.50
<b>Total Additive No: 1</b>					\$ 251,165.00		\$ 447,100.00		\$ 282,856.50
<b>Additive Alternate Bid Items No 2 Bridge</b>									
AA2-1	Pre-Fabricated Bridge (Horizon Type by Contech) (15-ft wide by 60-ft span) including Abutments, and Foundation Elements	1	SY	780,043.00	780,043.00	180,000.00	180,000.00	342,164.67	342,164.67
<b>Total Additive No: 2</b>					\$ 780,043.00		\$ 180,000.00		\$ 342,164.67
<b>Additive Alternate Bid Items No 3 Line c and Interconnection</b>									
AA3-1	24-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Pipe by Open Cut	2,300	LF	229.00	526,700.00	240.00	552,000.00	252.45	580,635.00
AA3-2	24-Inch AWWA C303 Bar-Wrapped Concrete Cylinder Carrier Pipe	850	LF	162.00	137,700.00	160.00	136,000.00	232.25	197,412.50
AA3-3	24-INCH Class 52 Ductile Iron Pipe by Open Cut	150	LF	506.00	75,900.00	390.00	58,500.00	199.54	29,931.00
AA3-4	42-Inch Casing Pipe by Open Cut	125	LF	396.00	49,500.00	175.00	21,875.00	328.90	41,112.50
AA3-5	42-Inch Casing Pipe by Other than Open Cut	100	LF	840.00	84,000.00	430.00	43,000.00	815.13	81,513.00
AA3-6	50-Inch Tunnel Liner Plate by Open Cut	60	LF	1,275.00	76,500.00	360.00	21,600.00	915.74	54,944.40
AA3-7	50-Inch Tunnel Liner Plate by Other than Open Cut	570	LF	775.00	441,750.00	310.00	176,700.00	915.74	521,971.80
AA3-8	24-Inch Gate Valve	14	EA	27,160.00	380,240.00	29,155.00	408,170.00	27,160.71	380,249.94
AA3-9	24-Inch Gate Valve and Vault	2	EA	26,570.00	53,140.00	32,735.00	65,470.00	50,775.00	101,550.00
AA3-10	24-Inch Butterfly Control Valve	1	EA	145,300.00	145,300.00	145,000.00	145,000.00	167,148.00	167,148.00
AA3-11	16-Inch Meter Vault with SCADA Connection	1	EA	250,000.00	250,000.00	350,000.00	350,000.00	260,600.00	260,600.00
AA3-12	Connect to Existing 24-Inch Water Line	1	EA	13,000.00	13,000.00	8,800.00	8,800.00	16,600.00	16,600.00
AA3-13	4-Inch Water Air Release Valve and Vault	2	EA	41,900.00	83,800.00	46,000.00	92,000.00	49,360.00	98,720.00
AA3-14	Fire Hydrant Assembly	4	EA	5,800.00	23,200.00	8,895.00	35,580.00	6,135.00	24,540.00
AA3-15	Combination Flushing and Sampling Station	2	EA	10,000.00	20,000.00	20,970.00	41,940.00	10,300.00	20,600.00
AA3-16	2-Inch Water Service	3	EA	3,000.00	9,000.00	5,080.00	15,240.00	5,350.00	16,050.00
AA3-17	Utility Marker - Water	15	EA	150.00	2,250.00	295.00	4,425.00	75.00	1,125.00
AA3-18	Location of Utilities - Vacuum Excavation	5	EA	1,400.00	7,000.00	1,500.00	7,500.00	1,872.00	9,360.00
AA3-19	Site Clearing and Grubbing	2,350	SY	2.70	6,345.00	9.00	21,150.00	1.28	3,008.00
AA3-20	Drilled Native Seeding	13,500	SY	1.00	13,500.00	1.00	13,500.00	0.54	7,290.00

CITY OF MESQUITE  
BID TABULATION

Bid Name: Kaufman County Large Diameter Transmission Water Main Project  
 Bid Number: 2020-012  
 Date: September 24, 2020

Item Number	Description	Qty	Unit	Mountain Cascade of Texas LLC		Ark Contracting Services, LLC		Wilson Contractor	
				Unit Price	Extended	Unit Price	Extended	Unit Price	Extended
AA3-21	Trench Safety Plan	1	LS	600.00	600.00	3,000.00	3,000.00	200.00	200.00
AA3-22	Trench Safety Implementation	2,485	LF	1.00	2,485.00	15.00	37,275.00	2.20	5,467.00
AA3-23	SWPPP ≥ 1 acre	1	LS	6,400.00	6,400.00	6,000.00	6,000.00	6,180.00	6,180.00
AA3-24	HDPE Conduit for Fiber Optics Communications Line – Open Cut	2,300	LF	8.50	19,550.00	10.00	23,000.00	10.58	24,334.00
AA3-25	HDPE Conduit for Fiber Optics Communications Line – In Casing	850	LF	25.00	21,250.00	70.00	59,500.00	4.44	3,774.00
AA3-26	Fiber Optic Communications Line	3,650	LF	2.20	8,030.00	10.00	36,500.00	2.09	7,628.50
AA3-27	Polymer Concrete Ground Box - 3'x5'x3' – with 100' of Coiled Fiber Conduit	7	EA	2,960.00	20,720.00	10,385.00	72,695.00	2,090.00	14,630.00
AA3-28	Utility Marker - Fiber	15	EA	148.00	2,220.00	375.00	5,625.00	55.00	825.00
AA3-29	Temporary Fencing	1,650	LF	7.00	11,550.00	15.00	24,750.00	5.25	8,662.50
AA3-30	Fence Gate	2	EA	2,000.00	4,000.00	8,040.00	16,080.00	2,600.00	5,200.00
AA3-31	Cathodic Protection	1	LS	57,695.00	57,695.00	66,720.00	66,720.00	48,100.00	48,100.00
AA3-32	8-inch Temporary Recycled Crushed Concrete Access Drive	350	SY	25.00	8,750.00	10.00	3,500.00	29.64	10,374.00
<b>Total Additive No: 3</b>					\$ 2,562,075.00		\$ 2,573,095.00		\$ 2,749,736.14
<b>Deductive Alternate No 1 - Line C</b>									
DA1-1	Credit to City for Use of Snap Ring Mechanical Restraints in Lieu of Welded Joints for Line C Only	1	LS	24,830.00	24,830.00	70,000.00	70,000.00	7,500.00	7,500.00
<b>Total Deductive No: 1</b>					\$ 24,830.00		\$ 70,000.00		\$ 7,500.00
<b>Incentive For Additive Alternate No.3</b>									
I-1	Substantial Completion prior to the 180-day contract time for completion of Additive Alternate No. 3	30	Days	2,500.00	75,000.00	2,500.00	75,000.00	2,500.00	75,000.00
<b>Max Incentive Amount</b>					\$ 75,000.00		\$ 75,000.00		\$ 75,000.00
<b>LESS DISCOUNT:</b>									
<b>NET TOTAL:</b>					\$ 10,391,543.00		\$ 10,404,140.00		\$ 10,973,644.53
<b>TERMS:</b>				Net 30		Net 30		Net 30	
<b>DELIVERY:</b>				As Stated		As Stated		As Stated	